
50 SENIOR ADVENTURE 2002 <2002><EU, US><600122>
EXHAUST SYSTEM

89



Pos Part Number Description Additional Text Quantity

1 45105008000 EXHAUST PIPE 50 ADVENTURE 2002 1.00



2 45105079100 SILENCER SX JUNIOR 2002 MINI ADV., JUNIOR ADV. 1.00

2 45105079000 SILENCER SX SENIOR 2001 SENIOR ADV. 1.00

4 50305016000 TEN.SPRING L=62MM EY.MOVEABLE 2.00

5 0770320030 O-RING 32,00X3,00 VITON 1.00

6 44011076200 Cable tie 200/4.6mm black 2.00

8 45105079056 ROCKWOOL PREFOMED 50 2002 110 GRAMM TOTAL
WEIGHT

1.00

9 54605057000 RUBBER SLEEVE D=21MM/23MM '93 125/200 SX, 125 EXC 1.00

12 45105083000 EXHAUST THROTTLE CPL. MINI 02 MINI ADV. 1.00

20 54603048100 clip nut M6 3.00

21 50305012000 Silent block for exhaust pipe 2.00

22 0014060103 HH COLLAR SCREW M 6X10 WS=8 1.00

23 0015060123 HH COLLAR SCREW M 6X12 WS=8 1.00

24 0014060153 HH COLLAR SCREW M 6X15 WS=8 2.00

25 0015060303 HH COLLAR SCREW M 6X30 SW=8 LC4, LC4 SM, DUKE 1.00

26 54605069000 BUSHING 7,5X12X28X7,8 '96 2.00

27 54605068000 EXHAUST BRACKET RUBBER BLACK 1.00

28 0137060003 spring washer DIN 137 B - 6 1.00


